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Introduction
In last RAN4 meeting, initial simulation list for FR1 FDD and TDD agreed as in [1]. Simulation results for FR1 FDD, FR1TDD were given in this contribution.
Discussion
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Simulation results for FR1 TDD:
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Conclusion
Tables below summarize SNR points at 70% relative throughput for FR1 FDD and FR1 TDD.
Summarized results for FR1 FDD (alignment result):
	Case Number
	Samsung

	 
	2Rx
	4Rx

	1
	-2.37
	-5.14

	2
	-2.33
	-4.96

	3
	21.78
	19.32

	4
	12.05
	7.30

	5
	16.77
	11.96

	6
	 
	8.95

	7
	 
	14.71

	8 (MMSE-IRC)
	15.88
	

	8 (R-ML)
	14.18
	 

	9 (MMSE-IRC)
	 
	27.83

	9 (R-ML)
	 
	19.63

	10
	-0.58
	-2.64

	11
	 
	 

	12
	 
	 

	13
	 
	 

	14
	 
	 


Summarized results for FR1 TDD (alignment result):
	Case Number
	Samsung

	 
	2Rx
	4Rx

	1
	-3.39
	-5.87

	2
	-2.01
	-4.33

	3
	22.04
	19.26

	4
	12.51
	7.66

	5
	16.52
	11.80

	6
	 
	10.07

	7
	 
	15.29

	8 (MMSE-IRC)
	16.73
	 

	8 (R-ML)
	14.88
	 

	9 (MMSE-IRC)
	 
	28.51

	9 (R-ML)
	
	20.70

	10
	5.29
	2.76

	11
	-3.78
	-5.54

	12
	-3.80
	-5.69



Reference
[1] R4-1811723, “Simulation assumptions for NR PDSCH demodulation performance requirements”, Intel 
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